
 

8300 

DUCATI 851 
1988-1991 

Part Nr. 509 
818225 

816L 

M8 x 40 DIN912 

+123221508 

+ 807Z 
 

M6 x 25 DIN7380 
+ 816R + M6 DIN985 

 
 

M8 x 40 DIN912 
+ 807Z 

M6 x 25 DIN7380 
+ M6 DIN985 

M8 x 25 DIN7991 M8 x 30 DIN7991  
+ 123220508 

 

Excentr 820 + 

M6 x 16 DIN912 
 

810R +  
M6 x 25 DIN7991 

 

8340 M8 x 30 DIN912 

818056 

+ M8 DIN934 

M6 x 40 DIN7380 
+ 817 + 123121706 

+ M6 DIN985 

 
 


